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Note : Attempt all questions.

E AR AT IMTYIRaT & |
Graph paper is required.

wrmr e : (i) HOFOIR F TI Hf AN TR T |

General Instructions : Use of calculator is not permitted.

(ii) TR wAE 1 ¥ 99 Gvs €1 WU (37) ¥ agfasedd W, @ve
(%) ¥ fioa wHl F 9fd w1 @ () ¥ g fer 1 E
To® T T ) 3% efed B
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write
true/false are given. Each question carries 1 mark.

(iif) WA FHi% 2 ¥ 6 T AfAegEST0d U9 § | Yld W | 2 3iF
sreifed & |

Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.
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(iv) W A 7 @ 10 TF ATl W ¥ | v w3 s
arafea €1
Question Nos. 7 to 10 are very short answer type questions.

Fach question carries 3 marks.

(v) W HH 11 A 14 95 TENE ¥ € | Y96 I § FiafE
forhen R 1 wells 99 W 4 3 Al ©
Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
(vi) T HHIH 15 TH 16 THIA0T 999 § 1 v 9w | sniafts fame
T | U T W S 37 aefd €|
Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each yuestion carries 5 marks.
(vit) 99 I 17 U 18 Eri3add U9 ¥ | Wolsh U9 § 3iafiE faeey
B | WOAE W W 6 I AR ¥
Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

-1

(Eve-3 ) Tl faswea T fafan . [1x5=5]

(Part-A) Choose and write the correct option :

()

TEUE (x2— 1) F YAF € :
(an 1, -1

() -1, 1

() 1,1

(a) 0,1

Zeros of polynomial (x2 - 1) are :

(@)
(h)
(¢)
(d)

1,1
-1, -1
1,1
0,1
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()

(iii)

()

v)

[3]
saR-3mauRe o v 8

(1 (m 2

(M0 (D) -1

The arithmetic mean of Sand -3 is:

@ 1 (b) 2

© © (@ -I

tan 60° x cot 60° 1 W ¥ : :

€ 7‘3. (¥ 1

(M 3 (0

Value of tan 60° x cot 60° will be : -

(a) 7'5 (5) i_

© V3 @ 9

Ty § i w1 " i €

(37 12 (9) 8:

(@) 6 (3) 4

The number of edges in a cuboid is : '

(@) 12 (b) 8:

(c) 6 (d 4
ﬁ'-g(—2,4)ﬁs'¥ril'gu’l‘¥rﬁm? :

(37) wom =gala (7 feera wgute
(@) Tda =gul (7) =g wqute

Point (-2, 4) will lie in which quadrant?

(a) First quadrant (b) Second quadrant

(c) Third quadrant (d) Fourth quadrant

S-4C+
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W1 (wuy-w) fad wrl # i sifeg [1x5=5)
(Part-B) Fill in the blanks :
() af12:6: ¢ A, A x T OA —— B
If 12:6:x, then the value of x willbe
(i) AZsin® =1 A, & o7 9" —— BN
Ifsin® = 1, then the value of § will be L
(ii7) F9 F TR I Sar — B E)
The largest chord of a circle is
(v) afe St e @ § s 53 Tor YR 9Tt o7t &, @
R AT —— By
[f the interest in Fixed Deposit Account is calculated on
quarterly basis, then the rate will be as a percentage
() T fog @ a0 W i v el vl # erawd —— B E
The lengths of tangents drawn from an external point to a
circle are
-1 (@U3-W) T ATl 3\ fafau [1x5=5]
| (Part-C) Write True or False :
() o frw d e A== S @y e s v
a 0 G
tau fl
if 4= h_a in the system of equations, then we will get a
a b e
unique solution.
S-4C+
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(i) x-31F 3 -3 T TR T #a ¥

x-axis and y-axis both are mutually perpendicular.

(iif) amﬁmmﬁmaﬁﬂmmﬁﬁ%ﬁﬁﬁl

The rate of interest in Recurring Deposit Account is higher

than that in Savings Account.

(iv) afz 3 fase wHEY g, @ 4 g ot €4 €

If two triangles are similar, then they are always congruent.

(v) cos (90° — B)F1 W sin  FAT T |

The value of cos(90° — 0) is sin 0.

Wi fF @ g(x), p(x) 1 TF TAETE &, 3

g{x)=x+1,p(x)=x3+2x2—2x—l [2]
Check whether g(x) is a factor of p(x), if g(x)=x+ 1, p(x)= x3 +2x¢2

-2x -1
k¥ forg U ¥ forg wrileo % Yo arafas @ sl ¥, Afg
16x2 + kx +9 =07 (2]
For what value of & will roots of the equation be real and equal, if
16x2 + kx + 9 =107
7 fag | fag (4, 3) F a4 =1 g0 9@ HHfSQ 2]

Find the distance from the origin to the point (4, 3).
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-5 3sin 10°.sec80°m=rmmﬁflﬁw

Find the valye of 3 sin I-O"- sec 80°,
-6 frefafan stwe a e T 2 -

22,20, 24, 16, 18,26, 21

Find the median of the following data :

22.20,24, 16, 18, 26, 21

W7 AR (x+3):27:.1.3 ), T x %1 W 9w R

If (x+3):27::1: 3, then find the value of x.

U¥1-8 aﬁw‘lwﬂ—spm;o ﬁ{@fmﬁmqﬁmmﬁmt

Find the sum and product of the roots in the quadratic equation

x-5x-24=0, -

uy1-9 14ﬂﬁ+*ﬁ|§aﬁw§rmmmss TR X DY ¥
Wﬁﬁwsﬂaaﬁﬁgi

The curved surface area of a cylinder is 88 Square cm and height s

14 cm, then find the radius of the base of the cylinder,

uy1-10 HﬂﬁQﬁW'ﬂ@TﬁﬁlWﬂTﬂW'

Find the average of the first 9 odd numbers.

___-_'_'_---._.____
S-4C+ |

(2]

(2]

(3]

(3]

(3]

(3]
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WA-11 TN 300 ¥ W 5% A wm A 1,2,3,4 9 5 94 ¥ fg
TR = Forer wReft A wefifa €
g (g %) 0 1 2 3 4 5
QTR =T (T ¥ ) 0 15 30 45 60 75
TG § WHRY A & e e gt [4]
The interests on deposit Rs. 300 at 5% rate of interest for 1, 2, 3, 4
and 5 years are shown in the following table :
Time (in year) 0 1 2 3 4 5
Simple interest (in Rs.) 0 15 30 45 60 75
Draw the graph between time and simple interest.
reqar
OR
afq P4 = PB & a1 A 3k B & fdwis waen: (2, 0) F (-2, 4) & @
P y-31 R feerm 91, 7@ P & fadwies 9w wife)
If PA = PB and co-ordinates of points 4 and B are (2, 0) and
(-2, 4) respectively and P lies on the y-axis, then find the co-ordinates
of point P.
Y12 fag FY i qEm frge ol a9 < st & el ¥
F R g [4]
Prove that the square of hypotenuse of a right-angled triangle is equal
to the sum of squares of other remaining two sides.
S4C+ P.T.O.
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w14

S4C+

|81
3rerar

OR

fog = o s wTqa % g O 1 ITE 180° e ¥ |
Prove that the sum of opposite angles of a cyclic quadrilateral

1s 180"

@wmwmﬁmﬁwWWIﬂaﬁﬁ.%m (4]

Calculate the volume of a sphere having surface area of 154 sq. cm.

ryar

OR

TF a9 & AUR FH 9fif X T 3K F=R 10 6. B SEE H
JTFT Ad HIfT)

The circumference of base of a cylinder is 88 cm and height is 10 cm.

Find the volume of the cylinder.

f1 TROR 1 S A HIAC ; (4]
= 0-10 10-20 | 20-30 30-40 | 40-50

3“'qﬁl 4 10 i 16 12 ¥

Find the mode of the following tuble -

1 " —
Class-interval | 0-10 10-20 | 20-30 30-40) l 30-54
Frequency 1 v 16 12 <
- I __._____:-"'
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rerar
OR
fna sifwel w1 TuR e T Fifeg
s 30 35 38 40 42 45 48
WA 6 5 6 8 6 2 2

Find the arithmetic mean of the following data :

Marks obtained 30 35 38 40 42 45 48

Frequency 0 5 6 8 6 2 2

T SRR 3 150 T, WA F e A 2 o9d a% snadl o @ 9
F ¢ 1 3 = A R 5% i &, 38 2 ad we fawet wofen wia

et 2
A person deposits Rs. 150 per month in a Recurring Deposit Account
for 2 years. Find the amount he will get at the time of maturity at the

rate of 5% per annum. https://www.cgboardonline.com

rerar

OR

& =ie 4 20,000 %. 1 a4 F forg wrafy o @ § s e o
N F W 6% FitE B 991 =99 B: UE Fadifora e €, @ frg fafy
gvar faer arelt yfe fea g 2

A person deposited Rs. 20,000 for one year in a Fixed Deposit
Account. If the rate of intcrest is 6% per annum and the interest is
compounded every six months, then what amount will he get after

due date?

(3]
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[10]

W-16 I ABC 3 witma e % T Moy fawd 48 = 8 &, BC=5 ¥l
3R £4BC=60° ¥ | Ta 1 & W ot fafaw [5]
Construct a circumcircle for triangle ABC where AB = 8 cm,
BC =5 cm and ZABC = 60°. Write the steps of construction also.

AT
OR
6 o wﬂﬁﬁmﬁzﬁ#ﬂmﬁﬁmmumﬂ?
vz o fafaa
Construct the incircle of an equilateral triangle of side 6 cm. Write
the steps of construction also.

wom-17 4t feet g aﬁmpﬁﬂzqaﬂtqﬁqﬁpﬁﬁlﬁzﬂﬂﬁlﬁ
(p + g)dl RYA R (6]
If p'f term is ¢ and g'h term is p of an arithmetic progression, then
prove that (p + g)'" term is zero.

aryar
OR
k%ﬁam%ﬁqnﬁmﬁaﬂh—sﬁzaﬂwxuyﬂm—
() Sfgaea®;
(i) FERET@AN?
For what value of k, system of equations kx — 5y = 2and 6x +2y =17
has—
(i) unique solution;
(i) no solution?
S-4C+
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(1]
(6]
7eA-18  Giww & IR

cost cosf _4
1—sin® 1+sinb
Solve the equation :

cosB cosO —4
1—sin® 1+sin®

3rerEr
OR

fag =ifau f&

1—cos _ cosec 8 —cotf

1+ cos®
Prove that

L —cosb _ cosec 6 — cot6

1+ cosf

https://www.cgboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
oY R Aud Ay 3 10 vudr Ord,
Pavtm or Google Pay &

S-4C+

https://www.cgboardonline.com



